
ΑΠΑΝΤΗΣΔΙΣ: ΣΤΟΙΧΔΙΑ ΜΗΧΑΝΩΝ    20/6/2020  

ΘΔΜΑ Α  

Α1. 1. γ, 2. ζη, 3. ε, 4. α, 5. β  

Α2. α. Λ, β. Σ, γ. Λ, δ.Σ, ε. Σ  

ΘΔΜΑ Β  

Β1.  

1. ε 

2. γ 

3. δ 

4. α 

5. β  

 

Β2. Σελ. 142 7 τρήζεις κοτλιών  

Σελ. 192 4 από ηοσς 6 ζκοπούς ποσ επιηελούν ηα έδρανα  

 

ΘΔΜΑ Γ  

Γ1. α.  

ηεπ=Q/(η∙Α∙κ∙z)    

1000=12560/(1∙Α∙1∙4)    

1000=12560/(4∙Α)   

1000∙4∙Α =12560   

4000∙Α =12560   

Α =12560/4000=3,14cm
2
  

A=(π∙d2)/4   

3,14=(3,14∙d2)/4   

1=d2/4   

d2=4   

d=√4=2cm=20mm  

β. d1=d+1mm=20+1=21mm=2,1cm  



 

Γ2. α. F=0,6∙d12∙ζεπ   

3140=0,6∙22∙ζεπ   

3140=0,6∙4∙ζεπ   

3140=2,4∙ζεπ    

 ζεπ=3140/2,4=31400/24≈1308daN/cm
2
 

 

β. pεπ=F/{(π/4)∙(d
2
-d1

2
)∙z}   

200=3140/{(3,14/4)∙(32-22)∙z}   

200=3140/(0,785∙5∙z)    

200∙0,785∙5∙z =3140   

785∙z =3140   

z =3140/785=4  

 

ΘΔΜΑ Γ  

Γ1. α. Μt=71620∙(P/n)    

5000=71620∙(50/n)    

n=71620∙(50/5000)=7162∙(5/50)=7162∙0,1=716,2rpm  

 

β. Μt=0,2∙ηεπ∙d
3   

5000=0,2∙200∙d
3   

5000=2∙20∙d
3   

5000=40∙d
3    

 d
3
=5000/40=125   

d=5cm  

 

 

 

 



Γ2.  

 

ΣΜΑ = 0     

F1∙1 - FB∙3- F2∙4 = 0    

700 - FB∙3 - 100∙4 = 0     

700 - 400 = 3∙FB     

FB = 300/3     

FB = 100 daN 

 

ΣFy = 0    

FA-700 + 100 + FB = 0    

FA -700 +100 + 100 = 0    

FA-500 = 0    

FA =500 daN  

 

β· 

CA/F1=10     

CA/500=10     

CA =5000 daN     A:6312 

 

CB/F2=10     

CB/100=10     

CB =1000 daN     B:16012 


